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[ Tvc(e,b,ch)=(0,

5, 8) I745e+04/25

4181+ 0.0

[ TvC(c,b,ch)=(0,59) o=

4200+ 0.0

[ Tvc(e,b,ch)=(0,

5 10) I159e+04/25

4223+ 0.0

| TVC(c,b,ch)=(0, 5, 11) '.729+OA/25

4217+ 0.0

4000, |p2 -34.41% 0.00 4000, |[pr 35342000 4000 2, |pr  -as152000 4000, |pr 3465+ 000
3500 3500 3500 3500 F
3000 3000 3000 3000F
2500F 2500 2500 2500
2000F 2000 2000 2000
1500F 1500F 1500 1500

E 1000F ~ = Fe = E
wo0of ¢ = 29,06 [ps/ch] C =28.29 [pslch] 1000F C = 28.45 [ps/ch] w00F C = 28,86 [ps/ch]

500F - 500F - 500F - 500F -
1 1 1 1 L= 1 1 1 1 Lo 1 1 1 1 L= 1 1 1 1 L s
0 20 40 60 80 __ 100 20 40 60  80__ 100 0 20 40 60 80__ 100 0 20 40 60 80__ 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TvC(c,b.ch)=(0,5,12) J*=/*1 | TVC(c,b,ch)=(0,5,13) F°"'>| [ TVC(c,b,ch)=(0,5,14) F=*'*] [ TVC(c,b,ch)=(0,5,15) J=='>
4000, |p2 -34.66 + 0.00 4000 |p2 3454+ 0.00 40005, |p2 -35.54 % 0.00 4000 ., |p2 -35.06 + 0.00
3500 3500 3500 3500
3000 3000 3000F 3000
2500 2500 2500 2500
2000F 2000F 2000 2000F
1500F 1500 1500 1500 F

E E 1000F ~ = E~ _
1000F C = 28.85 [ps/ch] 1000F C = 28.95 [ps/ch] C =28.14 [ps/ch] 1000F C = 28.53 [ps/ch]

500 - 500F - 500£ - 500F T.
1 I 1 1 [ I I I 1 Lo 1 I I 1 L 1 I I 1 Lo
0 20 40 6 20 40 60 0 20 40 60 0 20 40 60

80 100
TP delay [ns]

80 100
TP delay [ns]

80 100
TP delay [ns]

80 100
TP delay [ns]



[ TvC(c,b,ch)=(0,6,0)

52e+04 / 25
4206+ 0.0

4000,

3500F

3000F

2500

2000

1500

1000

500F

- | pl -36.47 + 0.00

C =27.42 [ps/ch]

%

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,6,1)

67e+04 / 25
4196+ 0.0

4000

3500

3000

2500

2000

1500

1000

500

FC =27.88 [ps/ch]

|p1 -35.87+ 0.00

20

40

60

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,6,2)

68e+04 / 25

4000

3500

3000

2500

2000

1500

1000

500

4202+ 0.0
1 -35.58 + 0.00

FC=28.11[ps/ch

]

0 20

0

60

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,6,3)

84e+04 / 25
4218+ 0.0

4000

3500

3000

2500

2000

1500

1000

500F -

1 1 1 1 1
%2020 50 50

- [p -36.2+ 0.0

FC =27.62 [ps/ch]

100
TP delay [ns]

[_TvC(c.b.ch)=(0.6,4) F=*/>I [ _TVC(c.b.ch)=(0.6,5) F=*°= [ TVC(c,b,ch)=(0,6,6) J=*] [ TVC(c,b,ch)=(0,6,7) J**'>
4000, |pr  -3632:000 40001, |[pr  -ss15:000 4000, |pr  -a5792000 40002, [p2 348+ 0.0
3500F 3500F 3500 3500

3000F 3000F 3000F 3000

2500F 2500 2500 2500F

2000F 2000F 2000F 2000F

1500F 1500F 1500 1500

woof C = 27.53 [ps/ch] w0of C = 28.45 [ps/ch] b C = 27.94 [ps/ch] w0k C = 28.74 [psich]

500F - 500F - 3 ™ 500F -
1 1 1 1 1 - 1 1 1 1 1 - 1 1 1 1 1 - 1 1 1 1 1 -
O "20 """ 20 40 60 0 20 40 60 0 20 40 60

80 100
TP delay [ns]

80 100
TP delay [ns]

80 100
TP delay [ns]

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 6, 8) r13e+04/25

[ TvC(c,b.ch)=(0,6,9) J=='=

[ Tvc(e,b,ch)=(0,

6 10) rsse+04/25

[ TvC(c,b,ch)=(0,6,11) P’

4213+ 0.0 4228+ 0.0 4252+ 0.0 4266+ 0.0
4000 | pl -36.52+ 0.00 4000 | pl -36.26 + 0.00 4000 ., | pl -37.07 + 0.00 4000 [y | pl -37.42:% 0.00
3500F 3500 3500 3500
3000f 3000 3000 3000
2500F 2500F 2500 2500 F
2000F 2000F 2000 2000 F
1500 1500 1500 1500 F
1000F C = 27.38 [ps/ch] 1000F C = 27.58 [ps/ch] 1000F C = 26.97 [ps/ch 1000F C = 26.72 [ps/ch
500F - 500 - 500F - 500 -
- - - -
1 1 1 1 L= 1 1 1 1 1 1 1 1 1 L= 1 1 1 1 L=
% 20 40 60 80 __ 100 20 40 60  80__ 100 % 20 40 60 80 __ 100 % 20 40 60 80 __ 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

—_ [714e+04 / 25 —_ 63e+04 / 25 —_ 48e+04 | 25 —_ 96e+04 / 25
[_TVC(c,b.ch)=(0,6,12) J“=*/*1 | TVC(c,b,ch)=(0,6,13) F=°">| [ TVC(c,b,ch)=(0,6,14) F=*'*] [ TvC(c,b,ch)=(0,6,15) J*=*'>
4000, | p1 -34.85+ 0,00 4000, | pl -35.04 + 0.00 4000, | p1 -35.71+ 0.00 4000 &, | pl -35.48+ 0.00
3500F 3500 3500 3500 F
3000F 3000 3000 3000
2500F 2500 2500 2500
2000F 2000 2000 2000
1500F 1500 1500 1500 F

E E~_ 1000F ~ = Fe—
100F C = 28.69 [ps/ch] 1000F C = 28.54 [ps/ch] C =28.00 [ps/ch] 1000F C = 28.19 [ps/ch]
- - - -
s00k - s00F - 500F - 500F -
1 1 1 1 L= 1 1 1 1 Lo 1 1 1 1 L= 1 1 1 1 L=
0 20 40 6 20 40 60 0 20 40 60 0 20 40 60

80 100
TP delay [ns]

80 100
TP delay [ns]

80 100
TP delay [ns]

80 100
TP delay [ns]



[_TVC(c,b,ch)=(0,7,0) J*/®] | _TvC(cb,ch)=(0,7,1) J=*=1 [ TvC(cb,ch)=(0,7,2) F=*'*] [ TvC(c,b.ch)=(0,7,3) Jr='>
4000 | [pr 3737+ 000 4000 [pr 3768+ 000 4000 e, [pr 37092000 4000 e, [p1 37+ 0.0
3500 3500 3500F 3500

3000 3000 3000F 3000

2500 2500 2500 2500

2000F 2000 2000 2000F

1500 1500 1500 1500

1000p C = 26.76 [ps/ch 1000F C = 26.54 [ps/ch 1000F C = 26.32 [ps/ch 1000F C = 27.02 [ps/ch]

500 . 500 2 500F 2 500F -
1 1 1 1 1 1 1 1 1 1 - 0 1 1 1 1 1 - 1 1 1 1 1 -F
Q20" %0 80 100 O 202060 80 10 0 20 40 60 80__ 100 %2020 ""%0 80 10
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

[_TvC(c.b.ch)=(0.7,4) J=/®1 | TVC(c.b.ch)=(0.7.5) F“= [ TVC(c,b,ch)=(0,7.6) F***] [ TVC(c,b.ch)=(0,7,7) J2='>
4000 |p2 -35.36 0.00 4000 [em |p2 -36.04 % 0.00 4000 [ |p2 -35.27 % 0.00 4000 e [p2 -34.69  0.00
3500F 3500 3500 3500F

3000 3000F 3000F 3000F

2500F 2500 2500 2500F

2000F 2000 2000 2000

1500 1500 1500 1500

E 1000F C = E
1000F C = 28.28 [ps/ch] C =27.75 [ps/ch] 1000F C = 28.35 [ps/ch] woof ¢ = 28.83 [ps/ch]
500F - S00F - 500 - 500F -
1 1 1 1 1 o 1 1 1 1 1 - 1 1 1 1 1 - 1 1 1 1 1 -
0 20 40 60 80__ 100 20 40 60  80__ 100 0 20 40 60 80__ 100 0 20 40 60  80__ 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

| TVC(c,b,ch)=(0, 7, 8) |494e+04/25

[ TvC(c,b.ch)=(0,7,9) ==

| TVC(c,b,ch)=(0, 7,10) r17e+04/25

[ TvC(c,b,ch)=(0,7,11) F

72e+04 / 25

4234+ 0.0 4242+ 0.0 4257+ 0.0 4260+ 0.0
4000 | pl -36.53+ 0.00 4000 | pl -36.62+ 0.00 4000 [ | pl -36.08 + 0.00 4000 | p1 -36.96+ 0.00
3500 3500 3500 3500
3000F 3000 3000 3000F
2500F 2500 2500 2500
2000 2000 2000 2000
1500F 1500 1500 1500
1000F C = 27.38 [ps/ch] 1000F C = 27.31 [ps/ch] 1000 C = 27.72 [ps/ch] 1000 C = 27.06 [ps/ch]

500F "- 500F " 500F " 500F -
- - - -
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
% 20 40 60 80 __ 100 % 20 40 60  80__ 100 0 20 40 60  80__ 100 % 20 40 60  80__ 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

—_ 13e+04 / 25 —_ 76e+04 / 25 —_ J774e+04 | 25 —_ 43e+04 / 25
[_TVC(c,b.ch)=(0,7,12) F=*/*1 | TVC(c,b,ch)=(0,7,13) F=°'>| [ TVC(c,b,ch)=(0,7,14) J“*'*] [ TVC(c,b,ch)=(0,7,15) J=o>
4000 | pl -34.46  0.00 4000 [ | pl 365+ 0.0 4000 [ | pl -35.73+ 0.00 4000 [Fem | p1 -36.11+ 0.00
3500 3500 3500 3500F
3000 3000F 3000F 3000
2500F 2500 2500 2500 F
2000F 2000 2000 2000 F
1500F 1500F 1500f 1500

E 1000F C = 27.40 [ps/ch 1000F = = 1000F C =
w00f C = 29,02 [ps/ch] [ps/ch] C =27.99 [ps/ch] C = 27.70 [ps/ch]
- 500 - E - a3 -
ook - - 500 - 500 -
1 1 1 1 1 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 __ 100 20 40 60 80 __ 100 0 20 40 60 80 __ 100 0 20 40 60  80__ 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




[ TvC(c,b,ch)=(0,8,0)

4000 [p1

17e+04 / 25
4214+ 0.0
-36.1+ 0.0

3500

3000

2500

2000

1500

1000 C

27.70 [ps/ch]

500F

1 1 1 1
Q%0206 80

[ TvC(c,b,ch)=(0,8,1)

39e+04 / 25
4199+ 0.0

4000 e, [pr 3293+ 000

3500
3000
2500
2000
1500

w0of C = 28.63 [ps/ch]

500
1 1 1 1 1

V

20 40 60

[ TvC(c,b,ch)=(0,8,2)

07e+04 / 25

4000 [, [p1

4212+ 0.0
-35.69 + 0.00

3500
3000
2500
2000
1500

1000 C = 28.02 [ps/ch]

500

0 20 40 60

[ TvC(c,b,ch)=(0,8,3)

4000 [, [p1

46e+04 / 25

4230+ 0.0
-36.1+ 0.0

3500
3000
2500
2000F

1500

1000F C = 27.70 [ps/ch]

500 -

0 20 40 60

100
TP delay [ns]

80 100
TP delay [ns]

1
80 100
TP delay [ns]

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,8,4)

84e+04 / 25
4217+ 0.0

4000 fem,

| TVC(C,b,Ch)Z( O, 8, 5) I7A7e+04/25

4211+ 0.0

4000

| pl -34.93+ 0.00

3500
3000
2500
2000
1500

1000F C = 28.63 [ps/ch]

500

0 20 40 60

80 100
TP delay [ns]

|p1 -34.35+ 0.00

3500
3000
2500
2000
1500

1000 C = 29.11 [ps/ch]

500

/|

20 40 60

80 100
TP delay [ns]

[ Tvc(c,b,ch)=(0,8,6)

66e+04 / 25

4000 fr [p2

4234+ 0.0
-35.65+ 0.00

[ Tvc(c,b,ch)=(0,8,7)

.04e+04 / 25
4239+ 0.0

4000 [ |p1

3500
3000
2500
2000
1500

1000E C = 28.05 [ps/ch]

500

0 20 40 60

80 100
TP delay [ns]

-35.49+ 0.00

3500
3000F
2500
2000
1500

1000 C = 28.17 [ps/ch]

500

0 20 40 60

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 8, 8) I255e+04/25

4000, [o2

4238+ 0.0
-36.4+ 0.0

3500
3000
2500
2000
1500

1000E C = 27.47 [ps/ch]

500

L 1 Il L
C(J 20 40 60 8

0 100
TP delay [ns]

[ TVC(c,b,ch)=(0,8,9) T

63e+04 / 25
4254+ 0.0

4000 frm |[pr 35872000

3500
3000F
2500
2000F
1500
1000F C = 27.88 [ps/ch]

500
1 1 L 1 1

V

20 40 60

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 8, 10) r293+04/25

4000 [, |p2

4282+ 0.0
-36.97 + 0.00

3500

3000

2500

2000

1500

1000

500

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,8,11) F

4000 [F

54e+04 / 25
4274+ 0.0
-36.7+ 0.0

3500F
3000
2500
2000

1500

500

[p2
woof C = 27.25 [ps/ch]

L 1 Il [l 1
c() 20 40 60 8

0 100
TP delay [ns]

| TVC(c,b,ch)=(0, 8, 12) I175e+o4/z5

4000 e |p2

4255+ 0.0

-37.05+ 0.00

3500
3000
2500
2000
1500

w00f C = 26.99 [ps/ch]

500

0 1 1 1 1

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 8, 13) r57e+04/25

4265+ 0.0

4000 frum |pr  -s7.02: 000

3500
3000
2500
2000F

1500

w00k C = 27.01 [ps/ch]

v

500 -
-

0 1 1 1 1 1

20 40 60

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 8, 14) r95e+o4/z5

4263+ 0.0

4000 [, |p2

-37.41+ 0.00

3500
3000
2500
2000
1500

1000F C = 26.73 [ps/ch

500

0 1 1 1 1

-
1. =

0 20 40 60

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,8,15) F

4000 fen |p2

12e+04 / 25
4255+ 0.0

-36.42+ 0.00

3500
3000
2500 F
2000
1500
woof C = 27.46 [ps/ch]

500 -

0 20 40 60

80 100
TP delay [ns]




[ TvC(c,b,ch)=(0,9,0)

4000f, T

55e+04 / 25
4183+ 0.0
-35.56 + 0.00

3500
3000F
2500
2000
1500

1000F C = 28.13 [pS/Ch]

500 -

0 20 40 60 80 100
TP delay [ns]

[ TVC(c,b,ch)=(0,9,1)

4000 T

05e+04 / 25
4178+ 0.0
-34.89+ 0.00

3500
3000F
2500
2000
1500
W0oE C = 28.66 [ps/ch]

-
500 -
-
L I L L .

20 40 60 80 __ 100
TP delay [ns]

[ TvC(c,b,ch)=(0,9,2)

.54e+04 / 25

4000

3500

3000

2500

2000

1500

1000

500

o)

4199+ 0.0
-36.21+ 0.00

— |p1

[ TvC(c,b,ch)=(0,9,3)

[/41e+04 / 25
4200+ 0.0

F C =27.61 [ps/ch]

020 40 60

80 100
TP delay [ns]

3500
3000F
2500
2000
1500

1000F C = 28.22 [ps/ch]

500 -

4000 | pl -35.44 + 0.00

/|

-
-
-

1 1 1 1 1

0 20 40 60 80__ 100
TP delay [ns]

[ TvC(c,b,ch)=(0,9,4)

4000 T

03e+04 / 25
4181+ 0.0
-35.38+ 0.00

3500
3000
2500
2000
1500

1000F C = 28.26 [pS/Ch]

500 -

0 20 40 60 80 _ 100
TP delay [ns]

[ TVC(c.b.ch)=(0,9,5)

4000 T

31e+04 / 25
4198+ 0.0
-35.27 + 0.00

3500
3000
2500F
2000
1500
W00k C = 28.36 [ps/ch]

500 -
-
I L L | .

20 40 60 80 __ 100
TP delay [ns]

[ Tvc(c,b,ch)=(0,9,6)

j712e+04 / 25

4000

3500

3000

2500

2000

1500

1000

500

0 20 40 60

4199+ 0.0
-35.64 + 0.00

- [o1

[ TVC(c.b.ch)=(0,9,7)

04e+04 /25
4215+ 0.0

F C =28.05 [ps/ch]

1 1 L L |
80 100
TP delay [ns]

3500
3000
2500F
2000
1500

w00k ¢ = 27.31 [ps/ch

500F .

4000 |pr 36612000

V

1 1 L L
%2020 T80 B0 100
TP delay [ns]

[ TvC(c,bch)=(0,9,8) Fur*=

4216+ 0.0
-35.39+ 0.00

4000, T

3500
3000
2500
2000
1500

1000F C = 28.26 [pS/Ch]

500F -
-
-

0720 40 80 80__ 100
TP delay [ns]

[ TvC(c,b,ch)=(0,9,9) J='=

4211+ 0.0
-35.2+ 0.0

4000, |p1

3500
3000
2500
2000
1500

1000F C = 28.41 [pS/Ch]

500

20 40 60 80 __ 100
TP delay [ns]

| TVC(c,b,ch)=(0, 9, 10) r833+04/25

4000

3500

3000

2500

2000

1500

1000

500

0 20 40 60

4248+ 0.0
-35.86 + 0.00

e, [o1

[ TvC(c,b,ch)=(0,9,11) P>’

4246+ 0.0

4000 T

FC =27.89 [ps/ch]

Il 1 1 1 L
80 100
TP delay [ns]

3500
3000
2500
2000F
1500

1000F C = 27.31 [pS/Ch]

500F 2

-36.61+ 0.00

v

L 1 1 1 L
%2020 T80 B0 100
TP delay [ns]

| TVC(c,b,ch)=(0,9, 12) r98e+o4/z5

4220+ 0.0
-35.25+ 0.00

4000 T

3500
3000
2500
2000
1500
1000k © = 28.37 [ps/ch]

-
500F .

-
1 1 1 1 L

0 20 40 60 80__ 100
TP delay [ns]

| TVC(c,b,ch)=(0, 9, 13) r35e+04/25

4197+ 0.0
-34.39+ 0.00

4000 T

3500
3000
2500
2000
1500
w0k ¢ = 29,08 [ps/ch]

-
500F -
-
1 I L | .

20 40 60 80 100
TP delay [ns]

[T

4000

3500

3000

2500

2000

1500

1000

500

0 20 40 60

| TVC(c,b,ch)=(0, 9, 15) I752e+04125

4223+ 0.0

4000, T

VC(e b o=(0.0.14) Jor
- | pl -34.05+ 0.00
t C =29.37 [ps/ich] ™,

3 I L L | . -

80 100
TP delay [ns]

3500
3000
2500
2000
1500

1000 C =28.70 [pS/Ch]

500 3

-34.84 + 0.00

/|

80 100
TP delay [ns]



| TVC(c,b,ch)=(0, 10,0) r758+04/25

4207+ 0.0

4000 e,

500F

3500
3000
2500F
2000
1500F
1000f C = 29,35 [ps/ch]

| pl -34.07 + 0.00

0

20 40 60 80 __ 100
TP delay [ns]

[ Tvc(e,b,ch)=(0, 10,1)

.55e+04 / 25
4205+ 0.0

4000

3500

3000

2500

2000

1500

1000

500

[,

1 -34.24+ 0.00

[o
C =29.21 [ps/ch]

20 40 60 80 __ 100
TP delay [ns]

[ TVC(c,b,ch)=(0, 10, 2)

27e+04 / 25

4000 fm
3500
3000f
2500F
2000F
1500F
1000

500

4213+ 0.0
| pl -34.57 + 0.00

C =28.93 [ps/ch]

/|
/|

0

20 40 60 80__ 100
TP delay [ns]

[ TvC(c,b.ch)=(0, 10, 3)

79e+04 / 25
4229+ 0.0

4000 [
3500
3000
2500F
2000F

1500

1000F C = 28.77 [ps/ch]

500

pl -34.76 + 0.00

[9) 20

80 100
TP delay [ns]

[_TVC(c.b.ch)=(0,10,4) F='>

4000 e |p2 36,5+ 0.0

3500

3000

2500

2000

1500

100F C = 27.39 [ps/ch]

500 -
Qg e

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,10,5)

62e+04 / 25
4233+ 0.0

4000

3500

3000

2500

2000

1500

1000

500

1 -37.23+ 0.00

[o
C =26.86 [ps/ch]

%

20 40 60 80 __ 100
TP delay [ns]

[ Tvc(c,b,ch)=(0,10,6)

62e+04 / 25

4000 e,
3500
3000
2500
2000
1500
1000

500

4234+ 0.0
| pl -36.66 + 0.00

V|
v

C =27.28 [ps/ch]

%

20 40 60  80__ 100
TP delay [ns]

| TVC(c,b,ch)=(0, 10, 7) I709e+o4/25

4257+ 0.0

4000 [
3500
3000
2500
2000

1500

1000F C = 26.94 [pS/Ch]

500

pl -37.12+ 0.00

i

40

60

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 10, 8) I7a7e+04/25

4214+ 0.0

4000
3500F
3000F
2500
2000F

1500

1000 C = 28.40 [ps/ch]

500

|P1 -35.21+ 0.00

0

80 100
TP delay [ns]

[ TvC(c,b,ch)=(0,10,9) P>/

4232+ 0.0

4000

3500

3000

2500

2000

1500

1000

500

- |p1

-36.47 + 0.00

C =27.42 [psich]

%

20 40 60 80 __ 100
TP delay [ns]

| TVC(c,b,ch)=(0, 10, 10) r24e+04/25

4000 [
3500F
3000F
2500F
2000f
1500F
1000F

500

4253+ 0.0
| pl -36.58 + 0.00

v
/|

C =27.34 [ps/ch]

%

20 40 60 80 __ 100
TP delay [ns]

| TVC(c,b,ch)=(0, 10, 11) r05e+04/25

4249+ 0.0

4000
3500F
3000F
2500F
2000

1500

1000F C = 28.50 [ps/ch]

500
L

pl -35.09 + 0.00

0 20

40

60

80 100
TP delay [ns]

| TVC(c,b,ch)=(0, 10, 12) ‘669e+o4/25

4260+ 0.0

4000 e,

500

o)

3500
3000
2500
2000
1500F
wo0of C = 27.33 [ps/ch]

| pl -36.59+ 0.00

0

20 40 60 80 _ 100
TP delay [ns]

| TVC(c,b,ch)=(0, 10, 13) r93e+04/25

4000

3500

3000

2500

2000

1500
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3500 3500 3500 3500
3000 3000 3000 3000F
2500 2500 2500 2500
2000 2000 2000 2000F
1500F 1500F 1500 1500
E E E~_ 1000F ~ =
1000E ¢ = 29.15 [ps/ch] 1000 C = 28.99 [ps/ch] 1000F C = 28.79 [ps/ch] C =28.23 [ps/ch]
- - - -
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

—_ 18e+04 / 25 —_ 53e+04 / 25 —_ 61e+04 / 25 —_ 52e+04 / 25
[_TvC(c.b.ch)=(1,0,12) F*/*1 | TVC(c,b,ch)=(1,0,13) F=°'=} [ TVC(c,b,ch)=(1,0,14) F*'*] [ TvC(c,b,ch)=(1,0,15) Jo'>
4000, |p2 34,92+ 0.00 4000, |p2 -35.94 % 0.00 4000 ., |p2 -37.25+ 0.00 4000 ., |p2 -36.42+ 0.00
3500 3500 3500 3500F
3000F 3000 3000 3000
2500 2500 2500 2500
2000F 2000 2000 2000F
1500k 1500 1500 1500

E 1000F C = 1000F C = 1000F C =
w00f C = 28.64 [ps/ch] C =27.83 [ps/ch] C =26.85 [ps/ch C =27.45 [ps/ch
500k - 500F " 500F - 500F -
- - -
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0 20 40 6 20 40 60 0 20 40 60 0 20 40 60

80 100
TP delay [ns]
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